Maths

Ta. which two numbers add together to
make the answer 8 0977

3167 | 3.641

5833 4456

1b. Which two numbers add together fo
miake the answer 8,4337

3.821

5,379

2a. Eva i5 adding two 4-digit numbers
together.

The answer has a five in the lens colvmn
where an exchange has taken place.

what digits couvld be in the tens column of
the two numbers being added logether?

2b. Lavra is adding two 4-digit numbers
icgether.

The answer has a seven in the hundreds
column and an exchange has laken
place from the tens to the hundreds.

What digits could be in the hvndreds
column of the two numbers being added
together?

3a. Meg thinks that an exchange fakes
place from the tens column in the
calculation below.

1,732 + 7,353

Is shie comeact?
Frove if.

3b. Jack thinks that on exchange fokes
place from the huendreds column in the
calculafion below.

6744 + 2165

Is he comeci?
Frove it.




